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Mastery

Write four number facts that this bar diagram shows.
95
57
+ -
+

Captain Conjecture says, 'When working with whole
numbers, if you add two 2-digit numbers together the
answer cannot be a 4-digit number.

Do youagree?
Explain your reasoning.

Mastery with Greater Depth

Use this number sentence to write down three more pairs of decimal numbers
that sumto 3:

16+14=

Captain Conjecture says, f you keep subtracting 3 from 397 you
will eventually reach 07

Do you agree?
Explain your reasoning.





